
wibenchmfg.com 507 E. Grant St. Thorp, WI 54771 • P - 800.242.2303
Specifications are subject to change. Product 

images are for illustrative purposes only and may 
differ from the actual product.

1

Hardwood Locker Bench Kits
Assembly Instructions

Before you begin, please make sure all parts and proper quantities are included. (See Part Identifier Key) Any parts damaged during shipment must be reported 
within 24 hours of receipt. To report information regarding damages or if you have any questions, please call 800.242.2303.

with Pedestals

Tools Required
•	 Socket wrench
•	 7/16” socket

V062321Version subject to change

Part Identifier Key

Step 1:  
•	 Use (3) 1/4” x 1.25” Hex Lag Bolts and (3) 1/4” flat washers to attach each pedestal to the bottom of the hardwood 

locker bench top. There will be pre-drilled holes in the top to guide you where the pedestals should be placed.
•	 Repeat with the remaining pedestals.

Step 2:  
•	 Hardware to attach pedestal to the floor is not included.  Installer will need to determine type of hardware that is 

needed.

Part # Description Qty.
0406835 Almond Locker Bench Pedestal Depends on length of top

0401303 Stainless Steel Locker Bench Pedestal Depends on length of top

Hardware 
Pack

1/4” Flat Washer
(Used to attach Pedestal to Hardwood Bench)

Depends on length of top

1/4” x 1.25” Hex Lag Bolt
(Used to attach Pedestal to Hardwood Bench)

Depends on length of top


